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FF B3 TOREE T 900]
X=#H (GR) 14. 49
IEGRL BE fon - K # g4 -1- -2- -3- -4 —5- —6- ik w5
1 3 411k xth 12.88 | 12.17 12.8 12.6 X 11.3 12.88
) RIPR 1 FTAC +1.2 +1.3 +0.9 +0.6 +1.1 +1.2
2 2 1T a+E K# 12.04 | 11.80 | 11.43 - - - 12.04
10" 3V En% BiRALY77 +1.5 +1.0 +1.4 +1.5
3 1 2/ EH ET X 10.18 | 10.10 | 10.30 | 10.24 | 10.56 10. 56
IIYHE Yann R E 1R +1.2 +1.2 +0.3 0.0 +0.6 +0.6




—4
hZ ¢ B3 T0E8E 12101

g2k

X=#H (GR) 6.51
IERL| S E Fon - K # E# -1- -2- -3- -4- —5- —6- ik w5
1719 7921 vk 8 (2) 5.39 5.28 / 5.39
'y ELTRG +1.2 +0.8 +1.2
2 18 7923 ¥R Kith (2) 4.92 5.08 5.05 4.96 4.84 4.76 5.08
Jth 5 4% EtR& +2.0 +0.3 +0.2 -0.2 +0.7 +1.3 +0.3
3 16] 7743 #x FX—EBR (2) 4.69 4.07 X 4.63 3.82 4.83 4.83
WY+ Faj{Foy Bl +1.8 0.0 +0.5 +0.8 +0.8 +0.8
4 17 7653/ik4 BF (2) 4.50 4.38 4.57 4.02 4.44 4.50 4.57
# h{tq AR REEH +2.3 +0. 1 -0.1 0.0 +0.3 +1.1 -0.1
5 15 7822 dtiE 5LER(2) 4.32 4.27 4.22 4.07 4.32 4.49 4.49
4479 Ak F A& +1.6 +0.5 +0.5 +0.8 0.0 +0.6 +0. 6
6 11 7758 E# E(2) 4.26 4.28 4.16 4.23 4.14 4.20 4.28
443 by REATE +1.6 +0.7 +0.3 +0.2 0.0 +1.0 +0.7
7 8| 7853 #mIL BE(1) 4.24 4.06 4.10 4.19 4.10 4.27 4.27
) Rl&dh +0.7 +1.0 +0.4 +0.8 +0.4 +1.7 +1.7
8/ 121 7650/l #EK (2) 4.14 3.91 4.26 3.98 4.19 4.17 4.26
W 795 [ A EEF +1.2 +1.0 +0.9 +0. 4 -0.3 +0.9 +0.9
9 13| 77199 =R BHEN) 4.23 4.05 3.84 4.23
g 19% sk B 0.0 +1.2 +0.3 0.0
100 10| 7929 &iZE RE(1) X 3.817 4.12 4.12
™9 1 ELTRG +0. 1 +0. 4 +0. 4
11 5 7649 BE &EAKN(Q) 4.08 3.06 4.02 4.08
1 EVE] &R+ +1.0 +1.0 +1.9 +1.0
12 6 7796 dtlm ER () 4.08 X X 4.08
0y 4yt JkBA +0.5 +0.5
13 3 7819 FE A1) 2.84 X 4.03 4.03
£V VY F A& +0. 6 +0.6 +0.6
140 14] 7946 &8 ik (1) 3.99 3.82 / 3.99
973 4hn AEME +1.7 +1.0 +1.7
15 9| 7925 EH #E) X 3.84 X 3.84
Vi IVEDES EXR+ +0.7 +0.7
16 4 7632 =8 DA 3.34 3.50 3.67 3.67
IV YUb BB EE G +0.2 +1.5 +1.2 +1.2
17 2 7800 A BEAT (1) X 3.54 2.68 3.54
R 3 Yavak JkBA +1.3 +0.2 +1.3
18 7 7820/dcle Z=EE (2) 3.47 3.18 3.20 3.47
¥4 3 vk FHE G +0.7 +0.7 +0.5 +0.7
1 7860 &R &E(2) Riz
19423 540 Rlgch




FF B3 T0H8E (1700
X2H (@R) 15.35
L RGN 3, RS o= s - - | -6 | mE | [EE
171 53 mER =
BER 2 . 9.31 9.93 9.83 8.85 9.78 9.19 993
2 E 7 B3 T0H8E (1700
X2H (@R ) 12.05
B B RS = | o= | -3 | 4= | - -6~ B | =
1710 7656 ikt |
o s g 857 921 898 880 922 919 922
29 7789 I
i 6.69 6.43 6.72 6.80 6.97 7.42 7.42
3 8 NEE B
g%{;m B 6.14 6.69 7.03 6.93 6.58 6.94 7.03
4 5 7840 R
e s 5.85 568 6.02 612 633 6.55 655
57 5
g2 X - 6.09 586 629 612 6.15 6.54 6.5
6 4 =R A1
o 5 N 574 531 562 571 605 578 605
76 1816 =H &
Shn B 544 579 574 579 586 501 5. 86
8 3 741 AW
ot - 5.5 524 548 568 572 551 572
9 1 7634 ¥iE @5
o ii’chm . 4.81 4.83 496 4.96
10 2 7830 i5fE M5
R S B 3.82 412 4.00 4.12
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